LT

U9 gTEaent - 2017
TwawE: C-007 - & TR A

. Question Booklet Version TIZEHFI'IEB (Roll No.) Question Booklet Sr. No.
10082¢
11 |
Answer Sheet No.
(%1 e Ierafidat fagmr) (g1 Fwies werusa formm)
raHi A
TR : Roo
IHEaWTEl wEt ¢ sl T
ECECINEIR L]
1. arvegferia 100 aegRed S iE v s,
2. e gE BroargE] S gh . Soreli= SeRafEn 3 SRAgfEiERT st e ST,
3. WA Frefetn wie v 9 FY IHERA e R SamEl.
4. IHEERA A1 TEgETRa (e qie U foeiedT TeHT HSSIYdH Tamea o QgHl gt

0.

10.

11
12

13

T R oft WL STR, Jurele Stihat steavas Hifkdt 341, TegfienT sevi HiiE, SgEHais
FrafeRd@ema @ T o FwUEl, Tmaaen sTied qifid Shean suafeen forfeet o § augd
T e ), THEE IR tehay anfor gy ekt gl e,

. W el s arEET.

. e YR 4 Sty I foiet oA cniieht e warta A s Fifved e,

g e RafvereTa) Seruha He e SeehTTeRTaT I U T esTieh! A T STHe Ages @3t
HYUIT0) STadl AT YT,

. TSR W] ad@Td WIeETe Hva e ael Wi aTeas T o, UeReT fieiet ST aeer) qie

el =i T2,

IR ST IACETET 2 79T Tt STefiet. TehTverteh TUT S0 Ad TEY. CHTUaT 31T agerd oIl Feamd

ST WISHENE helel] STHeHT w1 el 797 Teet SiTd A6,

.8, 613 100 s Tt wehms s, 5o hisher SR T 3 SSiq hIveel o S

e ST T AW A,

W T FOETE) TR e eamrdl feetedt St AR, STRufier wee S wE T4

. T A SR Tl e sreeare @l e Fd 9% HueaTe At e AHagEHRe
U . aHd Rt el WE A Hel el

. AT A Je TUEat TET hEETe ARTE War AT

P.T.O.

SEAL |




-

A T LR B C - 007-11

1. mewﬁ%ﬂ%m@@maﬁwuahﬁaa

A) T + SH B) &1 + S C) §S + S D) &S + v
5. =l rearedt TUTTEl earEdT PRICRECEIN

A) TSI B) T C) HaH D) #g
3. Wﬁﬁawﬁﬁmmmmﬁvﬁ?wmﬁa@

A) HATS ECIGEEI C) ey D) MRS
4. @ ALFTIRT Th aﬁ@wwﬁa‘r.w@nﬁ R HUS 7

MATTARTHY

A) q B) 4 ) D) =
5. wmwﬁmmmﬁqa

A) T B) 382 C) TauEdh D) brew
6. ﬁy@@?ﬁmm.wmﬂﬁﬁawwaﬂm.

A) herersr By demad! o) frofas - D) reeg
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10, Eeliete] TS Yes hIvET ¢

A) TR B) dyesurofi C) @ETREE D) Ty
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A) TEHE Fll B) HOM C) 9& D) ¥R HAl
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A) GEET B) fagh C) faean D) Teregdior
14, @TeletERT v Tree e AT e et T ¢

INEGIEEICS! B) ANFE C) AT D) IR
15, relter ST FAG S ae FES

A) @i Yot Hiead! B) e YR STl

C) TeER T Hiead D) R Yo Tl
16. Find the Noun from the sentence — The Scenery of Kashmir is very charming.

A) Scenery B) Kashmir C) Very D) Charming
17. Find the correct use of adjectiye:

A) Bring me any water {0 doink B) Bring me some water to drink

C) 1 need water to drifiks D) Can anyone bring water to drink

18. Find the correct usg of verb.

A) The shipawyas drowned B) The ship gone to bottom of sea
C) The shipwas sunk D) The ship is sunk

19. Choose thé word which is most opposite in meaning of the word : Disgusting
A) Admirable B) Pleasant C) Indecent D) Unexpecied

20~ hoose appropriate Synonyms of : Death
A) Accident B) Dismissal C) Demise D) Disappear

21. Choose the correct antonym of the word : Magnificent _
A) Grand B) Glorious C) Splendid D) Wicked

2. Choose the correct use of Gerends verb from given sentences.
A) It is the time of singing of the birds ~ B) The time is to sing the birds
C) The birds sing all the time D) The birds will sing any time

93, Choose the correct antonym of the word : Patriot
A) Humble B) Honoured C) Traitor D) Devoted

24. Choose which is not.synonym word in given words of : Stipulation

A) Condition ' B) Qualification C) Conviction D) Requirement
4 -
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25.
26.
27.
28.

29.

30.
31.
32.
33.
.
35.

36.

37.

Choose one which is not phrase/idioms from following.

A) To pass off B) Passed it out ) To pass for D) To pick out
One word is wrongly Spelled. Which is wrong word from the given words ?

A) Fullfill B) Wilful C) Skilful D) Fulfil
When we they were having lunch. (Choose the correct alternative)

A) Will arrive B) Arrive C) Arrived D) Had arrived
Which is not synonym word in given words ? Adversity.

A) Advantage B) Opponent C) Poverty D) Hardships
Which is correct use of present contirmous tense in the following sentences ?

A) Ramesh wrote an essay B) An essay is written by Ramesh
C) Ramesh is writing an essay D) Ramesh writes an essay

Choose from the group of wWoIgS given below the phrase for Idiom : To surrender.
A) To give up Bjpdo give in C) Accept it D) To run away
EreliEtER e G BT Sl Hisel ST ¢

A) FfETTh B) TeUEhY C) YRR D) FAfeeiiat
e S ST HHT IV TS IR AT 7

A) Tasp=t B) 3@l C) Tasst=n D) AT QlE
ETERERAY T RROTeER g T U] S0 AR 7

A& B) g™ C) A D) WH
Tl T B T B,

A) TS B) RIS C) ShaTaeE-o D) WFS
STTFTME] SIvi AeTsed AHad 7

A) FEA B) eIl C) TEZSH D) eAifrasH

& foor Teurt

A) forega gof @8l SIRd B) U1 TR ST B

C) o wwTia 1 g D) kR v g

ST S atrersht, SR R frgegrht F Tasra A & v AR

FTR FROTHT A0 Biaid ?
A) T B) W& C) & D) s
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A) &g B) IFd C) Tt D) weltet
39. Eewf JTEE o S Ao I T ST TR A ?
A) gferaa B) gEgISH C) TS D) AT

40, U TR 3 vERT YEERE 1 Ha, S srEd gy e wa. Frafor gon=n
IWAH R¢.§ aiﬂﬁs.awa‘?ﬁa%aw%wfawéﬁmﬁ%éﬁaﬁ%mﬁ?

A) URSES B) TFdmEA C) HeHed D) §FEHel
41. mﬁaﬁqawﬁﬂmmwmmﬁawﬁaﬁ@wﬁﬁﬁﬁﬁamwﬂw?

A) g fwa B) seq BpO  ©) e e D) T R
42, SRS ET & v S G angEE e AR,

A) Tt B et C) wTEEs D) doAdetst
43, Frgrut syrgs Bkl

A) T B) e C) sfem D) srEeET
44. wawﬁsmﬁmmﬁéwmﬂa@ammw%ﬁqwﬁam?

A) fegda B) fafie C) e D) WA
45. yfde dedrem I Hed .

A) A% B) EEH C) AFTEES D) FHfEw

46, 37T BT AT AT SR, TR § GHAITE HAT . FTY & TRITE § 19 AR, T
TR HHFS AT IO 7

A) Tar-g= B) FH-qaval ) IFIW-AR D) HH-HE
47. 82 3 wo T GV €W e quEll Rl 7

A) 33 B) 3R ) 30 D) 3%
48, GTEERER vTe STrh st Fagd THae ¢

A) Ichthyophis B) Salamandra  C) Anguilia D) Pheretima

49. gFRITE <A1 STRTE TG FH UM ¢
A) Neurology B) Endoplasmology
C) Karyology D) Ergastroplasmalogy
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50. In carbon-carbon link in acetylene contains

B) Two sigmas, three Pi bonds

A) One sigma, tWO Pi bonds
D) Three sigmas bonds

C) Two sigmas, tWo Pi bonds

51, Alkali metals are

A) Oxidizing agent B) Oxidant
C) Reductant D) Electronegative elements
57. JFifeae T TR FAHTS! ITAT Bl
A) %@ bl B) I Hehee
D) sfegfifion Tehedl

53, mmmwmwmaﬁa?
¢, o, &Y, R4, 3%, ?

A) 34 | B) 3% C) W& D) ¥}
54. et 3 mifeeha faET e @dl.

93%, 268, I, ¥R

A) %% B) R34 C) 3 D) 2&%
55. WWWWR@TM?

¥e 3o LY 2

A) ¥¢ B) ¥& C) R D) 4o
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A) %0 B) 2¢ C) R¥ D) W

57, whl wichtee ferdid VICTORY #1 ¥ ORYTCIV st foda sradid | ORDINARY
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58, 3L X IR+ REIXRUR= ?
A) Relyol B) 240Ul C) 24L4wo D) %l4wol
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61. Anode is made up of
A) Copper
C) Tungsten-Rhenium
T T Seien el ¢
A) I
C) dmee-{Fam

O A

B) Aluminium
D) Lead

B) Uegittam
D) ¥€

62. Characteristic radiation is produced when X-ray photon interacts with

A) Outer shell electron
C) Positron

B) Inner shell electron
D) Neutron

- HIEH IS | T e Sfsreegef tewmm fafor g 7

A) ETel FHEd FAagH
C) diEEH

B) aTict hard SeId
D) YgH

63. Binding enesgy.is highest for which shell electrons in an atom ?

A) K B) L

M D) N

s T SImYCT FVTRN e S BTG WAl ST T 7

Aj K B) L

a4 X-ray tube was discovered by
A) Roentgen
C) Gregory Hounsfield
e -t EEe Y 1ol AT ¢
A) =S
C) R BEiheg

65. X-ray film emulsion is made up of
A) Cadmium
C) Silver halide

mﬁmwmmm?

INEEIRL
C) foesm dass

O M D) N

B) William Coolidge
D) Nicolas Tesia

B) faciiam gefigs
D) Freprema %

B) Phosphorus
D) Lead

B) IEHH
D) ¥€
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66. Single coated films are used in
A) Chest radiography
C) Extremity radiography
e e ToroR HRTHE AT Jar 7
A) ST R B) WHEITH
C) T TS D) FifERTTh

o is a rare earth phosphor ? .
B) Barium fluorobromide

B) Mammography
D) Xeroradiography

67. Which of the followin
A) Calcium tungstate

() Gadolinium oxysulphide D) Barium strontium sulfate

et o g el e TR 7
A) SeRion TR B) A IS ATES
¢) TerfAas HREThES D) Al R Tehe

ed if Avet film processing consists of
B) Sodium thiosulphate

D) Chrome alum

68. Developing solution us
A) Sulphuric acid
() Hydrogquinone metol

aﬁwﬁmu&ﬁmwmmaﬁmﬁ?
A) R FEA B) WERm fEmEeHe

C) BRI H Had D) T TTH

69. Deviteswhich converts Jow yoltage to high voltage and vice versa is known as

A) Rectifier B) Transformer

() Autotransformer D) Cathode
émﬂﬁ@aﬁm:@@aﬂ@rﬁwmwmwww?
A) TEAERR B) AL
T 1 D) FuUlE

C)

70. Grid is made up of
B) Lead with molybdenum spacer

A) Lead

C) Lead with tungsten spacer D) Lead with aluminium spacer
Tfrg st S ST 7

A) TS B) WielEEH T HE TS

C) T TEL HE A8 D) tegfirim T ¥ S
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71. All of the following are methods to improve radiographic quality except

A) Transformer B) Grid
C) Beam limiting devices D) Filters

mmmwwmgwmmm
A) TIEHER B) e

o) dm ferdfidin fesemas D) freed
72. Filter in X-ray tube is made up of
A) Copper B) Aluminium C) Rhenium D) Gadolinium
wag-{ ogd nefie et T S Sl ¢
A) e B) Ueglitiad  C) e D) TeiferiEd

Cone beam CT is false ?
B) Used in dental imaging

D) Costly than MDCT

73. Which of the following abpur
A) Reduced radiation, dese
C) Has a cone shaptd beam
P i T e el PR T I ¢
A) TSt e Rl B) et gAlin ALl ITR Al
C) ST, SRR A e D) I Yen TETT I

74. Reotifiers are
B) Insulators

D) Semiconductors

A) Conductors

() Superconductors

Ferivapts TR
A) wheaed B) T

C) gueheFed D) Yrfisheded

75 Solid state diode rectifier is made up of
B) Cadmium

D) Sodium

A) Silicon

) Gadolinium
o e SETE TR FAE el S 7
INRLEIEE B) HeHiH

) Teiferdam D) HEEH
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76.

In a X-ray circuit, autotransformer is connected between
A) Cathode and anode

B) Source of current and primary of main transformer
C) Primary and secondary of main transformer

D) Filament circuit and X-ray tube
Y, R, ST FAHE Sheet St ?

B) w’w@ﬂaﬁg@mﬁmm
C)g@;mﬁﬁmmﬂﬁaﬁﬁ%@ﬂ
D) et wehte ST -1 =¥

Anode in mammography tube is made up of

A) Molybdenum B) Rhenivin C) Tungsten D) Copper
e = el e FA el Al ?
A) HictseiH BY <A C) T D) @
AFRB stands for
A) Atomic Enetgy Ruling Body B) Atomic Energy Regulatory Board
C) Atomic Encrgy Rules Body D) Atomic Energy Regulation Body
AERB TEUOLHME 7
A) Geiiien TSt wef i el B) @Tﬁ%@@ﬁﬁgﬁzﬁaﬁé
o reefien Tl wew Sl Dy iR el T et
All of the following devices control filament current except
A) Rheostat B) Choke coil
C) Pulse width modulator D) Rectifier
AT T e §d U fperie Wi T
A) Tawde B) € iz
0 wed Ry Hisge R D) EIHRT
Duration required for automated processing is
A) 5 min B) 20 min C) 1 min D) 1 hour

#@ﬁ%@gﬁ:ﬁaﬁwwaﬁﬁeﬁ?
A) s fe B) 20 ke o) 1 e L

-11-
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81. For general purpose radiography minimum thickness of lead equivalent in protective
apparel should be

A) 1 mm B) 0.5 mm C) 2 mm D) 5mm
T ST ISR Widt YeTcHs Ue neffe e Jee fohum Sne feet svom 7
A) 1 feft B) 0.5 it C) 2 fft D) s fpfi

82. Radiographic quality is improved by all except
A) High speed screen-film combination B) Decreased motion blur

C) Optimum phosphor crystal size D) Increased noise

A) TH T8 BhiT-Tthen tasiehaon B) HH HTAT HITH 51

C) AT IR 3h 1L d TR D) IRl 3TE™

83. Following arc the’ddvantages of using flat panel detector systems except

A) Compact B) Reduced image noise

C) Expensive D) Absentvignetting
TF FRq)aeld e Uie Reaer fedim ammar @ aa

A) HIH B) I SITRIAT 3HST 3T1ETS

SRCEIC D) Usg2fegmdin

84. Dose reduction techniques in fluoroscopy include all except
A) Reducing exposure time : B) Increasing tube current

C) Improving collimation D) Pulsed fluoroscopy
wreRd mefier et g gamEd o T Firesar gate guEe gal ?
A) Regdin taauIeR 3 B) dTadl EE e

C) guTha wiferdeH D) TeHg FgleRd
85. The viewing glass in the CT console room should have lead equivalence of
A) 0.5 mm B) | mm C) 2 mm D) 5Smm
I el THTEE TEvE R =t g s ST,
A) 0.5 foef B) 1 fu=h C) 2 fuefi D) 5 faHt

-12-



1RO 0 C - 007-11

86. PACS stands for

A) Picture Archiving and Communication Systems
B) Picture Archiving and Copying Systems

C) Picture Acquisition and Communication System
D) Picture Accepting and Communication System
PACS TevrS %14 7

A) Toerer it ofs smepfide R

B) fierer streffefin ste sidh Rreding

C) et Coamsiem 3t s R

D) T Gt ofs spmricse Ricdi

87. MRI stands for

A) Magnetic Requisition Imaging B) Magnetic Resonance Imaging
C) Magnetic Rectification Imagifig D) Magnetic Resonant Imaging
MR U % ?
A) e famrsiam gsfin ) B) Hidie i gisfi
C) Hardter i ey giistir D) Hade iy gasfin
88. Fourth generation CT Scanner is
A) Linear rotate-type B) Linear linear type
C) Rotate rotate type D) Rotate fixed type
HIE T Y YR e 7
A) Torfeir e werm B) forfiar forfre warm
C) T WL T D) e fheee wem
89. The discharge of the superconducting magnet in MRI is called
A) Ramping B) Quench C) Shielding D) Gradient
USRS Tefier Juwhsaen Haes fewarsier 1 wevm 7
A) T B) & C) e D) fgu=
90. Following are contraindications for MR] except
A) Cardiac pacemaker B) Cochlear implant
C) Intraocular metallic foreign body D) Pregnancy
THANS HI2 T s @ieha ad fifvgar sima
A) =hETaTeh TR B) Hraelir srell-e

C) SITIRIR H3afie Bt ate) D) IR

-13-
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91. All of the following are MRI sequences except
A) Spin echo B) Turbo spin echo

C) Neo spin echo D) Gradient echo
o ST G T QAR A

A) ThZRT B) ST gehl
c) Favefa g D) TSI gkl
92. The cryogen used in MRI is
A) Helium B) Neon C) Sodium D) Chlorine
TR WEd AT SR RIS A 7
A) BifcTaH B) fuia C) wEEH D) FARH
93. Permanent magnets are npiade up of
A) Titanium ) Mercury C) Copper D) Alnico
e Feh, I s AW ¢
A) fedftam B) HHl C) aml D) 3tfeal

94. The folldWing are the coils used in MRI except
A) Volime coil B) Surface coil ~ C) Phase array coil D) Imaging coil

m‘ﬁ‘.tmu%ﬁ@aﬁaﬂﬂﬁ@mﬁwﬁamwﬁeﬁ
A) SRicgH HEd B) GG HEA  C) BEUHEA D) ESEIUEIES|

95. Annual radiation exposure limit for radiation worker is

A) 1 mSv B) 5 mSv C) 30 mSv D) 100 mSy
Yoy T T T YR TR rater o ¢
A) 1 mSv B) 5 mSv ) 30 mSv D) 100 mSv

06. Artifact in MRI caused by movement of patient is called

A) Chemical shift artifact B) Aliasing
D) Ghost artifact

C) Zipper

FUTAT TS THARST Heflel SEhFet i FEUTa ?
A) e firae sdihae B) ITARISHT

C) HITR D) HE AT hEE

14-
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97. Role of AERB are all except

A) Registration of X-ray equipment

B) Layout approval
O Inspection

D) Repair of X-ray equipment
AERB =t qfiie wiveft wob smresar gt e ?
A) T IUHT e B) W37 iy
C) qurevft

98. 10 day rule of radiation protection applies to

A) Radiation worker

B) General public
C) Females in reproductiy

e age )" Staff nurse
e ey Ioﬁamaﬁmﬁvnmw;iﬁm ?
A) Heuym sy B) amm e
C) WS el wiven D) T

99, Following are advantaged of/ FIND badge except
A) Chips can be reused

B) Provide Pérmanent record
C) Compact D) Wide doge range
CIAITIRY O arasgy et Fhoerat 3 Y IR
A) == o e B iy B) R} i 2y
C) widee D) TREEN s

100. DSA stands for
A) Digital Sequential Angiography
B) Digital Substraction Angiography
C) Direct Substraction Angiogram

D) Direct Sequential Angiography
DSA T #1 7

-15-
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INK:EEL B) fagdh C) T D) fagdo
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A) sifiree B) srfrE C) HAfmH D) FAfER

| 3.@€fﬂﬂaﬁmﬁ%§tﬁﬂwﬂ%amﬁa@.

A)mﬁﬁﬁmlﬂtﬂ?ﬁ B) i JI UEHEl

C)axs?raa?{ﬁw@lga@f D) ST TR Hieadl
4.meﬁ%ﬁmuﬁzﬁmtﬂmmﬁﬁa@.

A) |q + SH B) & + Sid C) G|+ s D) G+ S5
s.asﬁsrsaﬁmwmﬁwrﬁmqaﬁaﬁra.

A) TR B) 4l C) Hah D) wg
6.%mmﬁﬁamiﬁaﬂuﬁﬁmmwﬁ?mmﬁa@.

A) FYATS 13y srerenall C) HIEHA D) TIEE
7. TR G TR R ? |

A) TR B) ol C) | D) W

; g. <t TIToY T a1 AT ST IO ¢
1 A) Karieh Had B) C) we D) T F

9 ﬁ%ﬁqﬁmﬁmﬁwm?

A) 9§ B) | C) T D) U9
10, e St e

A) . T Swef-affen e p) forfr sheft-wler T

C) Frtven wE - D) ¥Rt G- T IS

A) W53 - p) = C) AR D) ¥
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A) TS SET B v & T
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13, eier SRR U a&@?mm@?ﬁ.wﬁm &R TR0 ¢

MAAIAER Y
A9 B)® C) D) @
14 wmw@ﬁmﬁﬁwﬁﬂﬁa@
A) THcs B) 3&2 C) AqHEh D) e

iwen words ? Adversity.

C) Poverty D) Hardships

16. Which is not synonym word in g

A) Advantage B) Oppouent

continuous tense in the following se

A) Ramesh wrote an ossay B) An essay is written by Ramesh
D) Ramesh writes an essay

C) Ramesh 15 writing/ an essa
2

ntences ?

17. Which is correct use of prosent

ase for diom : To surrender.

w the phr
D) To run away

oup of words given belo
C) Accept it

18. Choose from taegr
B) To give in

A) To giveep
s very charming.

The Scenery of Kashmir i
D) Charming

19. Find.(kg-Noun from the sentence —

A) Bcenery B) Kashmif C) Very

203 “Find the correct usc of adjective.

to drink some water 10 drink

B) Bring me
{o drink

A) Bring me any water
D) Can anyone bring water

) 1 need water to drink

71. Find the correct use of verb.
hip gone 10 pottom of sea

A) The ship was drowned B) Thes
D) The ship is sunk

C) The ship was sunk
dioms from following.

t phrase/i
C) To pass for

B) Passed it out D) To pick out

22. Choose one which is no
A) To pass oft
from the given words ?

y Spelled. Which is wrong word
D) Fulfil

23. One word is wrongl
B) Wilful ¢) Skilful

A) Fullfill
t alternative)

aving lunch. (Choose the correc
D) Had arrived

they were h
) Arrived

24. When we
B) Arrive

A) Will arrive
4-
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25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

Choose the correct use of Gerends verb from given sentences.
A) It is the time of singing of the birds B) The time is 1o sing the birds
C) The birds sing all the time D) The birds will sing any time

Choose the correct antonym of the word : Patriot
A) Humble B) Honoured C) Traitor D) Devoted

Choose which is not synonym word in given words of : Stlpulation
A) Condition B) Qualification
C) Conviction D) Requirement

Choose the word which is most opposite in facaning of the word : Disgusting

A) Admirable B) Pleasant €) Indecent D) Unexpected
Choose appropriate Synonyms of : Aeath

A) Accident B) Displispal C) Demise D) Disappear
Choose the correct antonyp, 0f the word : Magnificent

A) Grand ) ‘Glorious C) Splendid D) Wicked
wmwy@fu‘*aﬁa 930 IR, ¢ edlict wata e e hiowd ¢

A) Ro B) ¢ C) ¥ D) W

“eRT TTeh (e AT VICTORY =7 78 ORYTCIV 39T Ryt amdiel a ORDINARY
R CAC ARSI I

A) NRYAIDRO B) ARYORDIN C) RYANIDRO D) ARYNIDRO

390 X 3% + ¢ X WI =

A) Qeckol B) £Lo4el C) teLkso D) feusel
WWMWWH Wi g IeRd.

A) ¥% JF B) ¥ dwmEA.  C) 2R ¥ F D) Ro WA
s gt freeg et 901 .

¢o, 2o, 3R0, , WRo, vlo _

A) Yoo B) ¥¢o C) 4o D) 4¥o
@wmmma&m

A) FEAUTE B) TOHTEHIY 0) aﬁnﬁa D) afeedte

.5-
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40.

41.

42.

43.

44.

45.

46.

47.

43.

49.

Wamw%aﬁwmwm?

A) T B) 3G C) T D) GEhal AT
WWWWWWW?@?

A) e B) i C) &M D) W
TR T EIA grid .

A) TR B) LS C) SharEcE-d D) W&
SIS P e AT 7

A) wEA B) FARKH C) EEgH D) aAfaEsH

CRDRJIUNET SRR EIECINE] ST, TS I & % e,
e i o 7 R

A) Taa-g= B) s garn  O) e, D) "
aa%\soma@ﬁwwwnﬂ’lwaﬁﬁfﬁ?

A) 33 By 3 C) 3o D) 3%
e v el aC L E LR EREIE ?

A) Ichthyopass B) Salamandra ) Anguilla D) Pheretima
TgAAITER AT S T w5 TR ¢

A) deurology B) Endoplasmology

¢y Karyology D) Ergastroplasmalogy

In carbon-carbon Link in acetylene contains

A) One sigma, twWo Pi bonds B) Two sigmas, three Pi bonds

C) Two sigmas, tWO Pi bonds D) Three sigmas bonds
g@m@aaﬁmmmw@@wﬁaﬁﬁwﬁﬁﬁmﬁmw?
A) g fro B) srew! o C) sher p) T R
NI S -] sere TR Feea R

A) feeetatsh B) Gl C) TSt D) et
Srgrn FEme Tl 7
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50.

51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

felry gedsar wrEd Tad &id.

A) @18 B) ARIEH C) FAATHS D) Hfcyrm
&R TEuS

A) foga gehm =l aRa B) YT YHTRE 0T Bid

C) & WIiE o1 8 D) wRisRfea e 8

ra Ul qE, m%wnmﬁaﬁwﬁaawménﬁﬁ%ﬁ@
T TR AR BT 7

A) THT B) T C) & D) e
Freudnft sisresn Vet faoeT aefioish #18 7a ¢

A) & B) I C) forecft D) e
ougiieh 3t 9 S Fi=a1 R ar] TR gl 7

A) Bform B) EIgISH C) TEERH D) TREEHE

Tl TR R TETEn TEeiE 1 T, SO IHed §E Wil 9. fmfer g
IV ] .6 379 B, 6T wie STV HHE A9 5 LR 5 P 6 7

A) TRES B) AFamed C) Hgned D) HEEmE
Alkali metals(are

A) Oxidizing agent B) Oxidant

C) R&ductant D) Electronegative elements
Sftiere gavn TR FEE IUI e,

A) W GHBET B) I Gehedl

C) wifean et - D) 3fegifiem gakean

Wielte 37 Hiferehd RepTean S shividl g a5 7
¢, R, §Y, 334, 2, 7

A) Y B) 3% C) QW& D) 3¥3
93, 28R, 234, ¥ |

A) 23% B) Y C) %3 D) 2&R
e faer=mn Snh I de s 7

¥¢:30:: ¢ Y )

A) ¢ B) ¥& C) uR D) 4o
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61. Artifact in MRI caused by movement of patient is called
A) Chemical shift artifact B) Aliasing
C) Zipper D) Ghost artifact
O SRS TR Wl iz T VA ¢
A) Feferat e SETHAR B) AR
C) FoR D) HEE AHFR

62. Role of AERB are all except
A) Registration of X-ray equipment
B) Layout approval
C) Inspection
D) Repair of X-ray equipivent
AERB%!W@%IW@BWH’& ared 1
A) T STRERET AR
B) WITHE WA
C) TIrEnh
D) T, SUSITE e

63.~40 day rule of radiation protection applies t0

A) Radiation worker B) General public

C) Females in reproductive age D) Staff nurse
YReow G 10 T IO T B ?

A) HfeugH TR B) HH AR

C) v FamHie wiee D) LTk

64. Following are advantaged of TLD badge excepl

A) Chips can be reused B) Provide permanent record

C) Compact D) Wide dose range
archietdl wh e ge Auedl = TR

A) a"rqawg:awa‘mwa‘t B) SRS AT &l

C) e D) RS SN i
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65. DSA stands for
A) Digital Sequential Angiography B) Digital Substraction Angiography
C) Direct Substraction Angiogram D) Direct Sequential Angiography
DSA TS % 7
A) Resfiea feaaeefiae Sfsiammd - By fesfeat waedanm TS

C) SRR HaEiaTH s D) sRiEe RyFersie sfsiammd
66. Anode is made up of

A) Copper B) Aluminium

() Tungsten-Rhenium D) lead

AT HITT STl ST 7

A) T B) Uegf-ian

C) ImeA-am D) TS
67. Characteristic radiation {g'ptoduced when X-ray photon interacts with

A) Outer shell ele¢tron B) Inner shell electron

C) Positron D) Neutron

T et Saea o e ARyt tewew FEio @A 7
A) ST S ST B) 3T el SAAGH
) witieq D) <A

68. Binding energy is highest for which shell electrons in an atom ?

A) K B) L C) M D) N
m@ﬁmﬁwwmwsﬁﬁgﬁwmwm?
A) K B) L C) M D) N

69. X-ray tube was discovered by

A) Roentgen B) William Coolidge
C) Gregory Hounsfield D) Nicolas Tesla
U - e Y ol AT ¢

A) UgeSH B) ferefrom peitest
C) T rEiEeS D) Frerrem =
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70. X-ray film emulsion i8 made up of

A) Cadmium B) Phosphorus

C) Silver halide D) Lead

- ik TR A S R ¢
A) THEHEA B) HEHH
C) Toreeet TARS D)

71. All of the following are MRI sequences except
B) Turbo spin echo

A) Spin echo
D) Gradient echo

C) Neo spin echo
@mg@aﬁaﬁqnmxﬁw 3R
B) =&} T 3

Ay TR R
0) S g D) TR
72. The cryogeh (sod in MRL 18
A) Helidm B) Neon ) Sodium p) Chlorine
T e I SR £PRA T !
PONHISRE p) F C) HrEEH D) FARH
79. Permanent magnets are made up of
A) Titanium B) Mercwry ) Copper D) Alnico
Dy ]

e I T e AT
INRCEERS B) TRl C) q@
MRI except

C) Phase array coil D) Imaging coil

g are the coils used in
B) Surface coil

wmmmﬁ@ﬁﬂaﬁﬂﬁ@mﬁmmwaﬁ
o ¥gHEE D) =N HEA

74. The followin

A) TEegH EIEN B) EHE A
75. Annual radiation exposure {imit for radiation worker 1S
A) 1 mSy B) 5 mdV C) 30 mSV D) 100 mSY
Yy TR AR TS Y TSR raten Rl
B) 5 mSv C) 30 mov D) 100 mSv

A) 1 mSv
-10-
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76.

7.

78.

79.

80.

PACS stands for

A) Picture Archiving and Communication Systems
B) Picture Archiving and Copying Systems

C) Picture Acquisition and Communication System

D) Picture Accepting and Communication System
PACS F&US %19 ?

A) TR arrifdin ofe Frgohem faedma

B) fierar errfidin ofg shidin fredi

C) Turer Tamsier e ety feedin

D) Toerer deedin 3ie srgiehy foedin
MRI stands for

A) Magnetic Requisition Imaging B) Magnetic Resonance Imaging
C) Magnetic Rectification dmaging D) Magnetic Resonant Imaging
MRI FEURS %13 ?

INR: B A CEIREN L s B) HUSIH - gHSIT

0) i W hera gastin D) HuE G- gaslin

Fourth generation® CT scanner 1s

A) Linear.rofdte type B) Linear linear type

C) Rotatetotate type D) Rotate fixed type
T = Y W v ?

A R TreE TR B) fordtr forfer werr

C) UL THR D) Uz fraygs TR

The discharge of the superconducting magnet in MRI is called

A) Ramping B) Quench C) Shielding - D) Gradient
TR efie Queeheadin Hie= fearsial %1 wevam ?

A) i B) & C) e D) UfE=e
Following are contraindications for MRI except

A) Cardiac pacemaker B) Cochlear implant

C) Intraocular metallic foreign body D) Pregnancy
THHRAT G13! Teh Il Wieile | Hivegd 3Ted

A) FIEHTS TTHF B) hIATH IS

C) TIBTR[CR Heelh BICH i D) Teemn

-11-



i__

C - 007-22 G

g1. In a X-ray circuit, autotransformer 1s connected between

A) Cathode and anode
B) Source of current and primary of main transformer
n transformer

C) Primary and secondary of mai
D) Filament circuit and X-ray tube ,
G-t qRaYTE, AT FAHER SIS ATl ?
A) Felrg AT EATe
B) a1 T I T TR TR
C) T R TR T HehEll
D) fremmie @i ST U - S

82. Anode in mammography tube(s3 made up of

A) Molybdenum Ry Rlenium C) Tungsten D) Copper
iy e wefiet GHis @RI e el
| A) HicAeEr B) e C) T D) @

83. AERB stands\lar
A) Atomi¢ Energy Ruling Body
C) Atorric Energy Rules Body

AECB TUS % ¢

A) qzrcﬁ%qqa‘ft\afmm@% B) i—{h‘\%qw@ﬁilgézﬁaﬁé
C) ool Tt wed w1 D) qwﬁ%q:r@ﬁ%gﬁma@

he following devices control filament current except
B) Choke coil

D) Rectifier

B) Atomic Energy Regulatory Board
D) Atomic Energy Regulation Body

84. All of t
A) Rheostat
C) Pulse width modulator

@ﬁﬁaﬁaﬁ@muﬁm@lﬁmﬁzmﬁﬁaw

A) fawde B) & HiE
C) Tew gy AR D) {FIERE
85. Duration required for automated processing is
A) 5 min B) 20 min C) 1 min D) 1 hour
s TR TEEE HETEHl fonelt 7
A) sTfe By 20 fafe o) 1fafe D) 1 9™

12-
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86. All of the following are methods to improve radiographic quality except

A) Transformer B) Grid
C) Beam limiting devices D) Filters
T AT GieAledeh! el T ol gurvammsiean vadt sma
A) TFIHIR B) s
C) s forftdin fyeemey D) fheed
87. Filter in X-ray tube is made up of
A) Copper B) Aluminium C) Rhenium D) Gadolinium
- = efiet fhea s smeien s
A) T@ B) Ugfirm- ." ¢) em D) el
88. Which of the following about Cone’beam CT is false ?
A) Reduced radiation dose B) Used in dental imaging
C) Has a cone shaped bgam D) Costly than MDCT
H o TET ST wieliih! I TR o ?
A) TS0 qE A S B) S FASIFT 7ed a1t g
C) AT Tk, ST s 3R D) THEIHIE GaT HEFT TR
89. Rectifiers are
A) Conductors B) Insulators
C) Superconductors D) Semiconductors
feciset:d HEq.
A) Fewed B) gegeied
C) gueheaed D) dHehesed
90. Solid state diode rectifier is made up of
A) Silicon B) Cadmium
' C) Gadolinium D) Sodium
B STET TS TR HIT= Sl S75ay 7
A) focfiem B) Hgm
C) TeiforTm D) |rERW

-13-
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91. For general purpose radiography minimum thickness of lead equivalent in protective

L apparel should be

A) 1 mm B) 0.5 mm ) 2 mm D) 5 mm
| W%@Wmﬁ@wﬁmnﬁﬁw@@ﬁmwmm?
| A) 1Tt B) 0.5 ot C) 2 Tt D) 5 fiefi

92. Radiographic quality is improved by all except
A) High speed screen-film combination B} Decrea
C) Optimum phosphor crystal size D) Increased noise

sed motion blur

Y oSl T et watge aTE(l !
A) BT TTg Eh - her TRl B) s eiell BT &R
C) ITTCTHT HIEH e SR D) aEie ST

]
93. Following are the advantages of using flat panel detector systems except
B) Reduced image noise

A) Compact
D) Absentvignetting

C) Expensive

A) FIUFE B) I S HEH
C) <1k D) Tsdfeame

copy include all except
B) Increasing tube current

D) Pulsed fluoroscopy

94. Dose reduction techniques in fluoros
A) Reducing exposure time
C) Improving collimation

w@@mmﬂmﬁamm@m@mmmm?

A) Tregeli TR 4 B) ATl EgH e
C) g HiferTH D) TEHE FeglEhidl

the CT console room should have lead equivalence of
A) 0.5 mm B) 1 mm ¢) 2 mm D) 5 mm
i) T FanEie THvrE HEwl < T TS .

A) 0.5 Tt B) 1TuHt ¢y 2 foeft D)y 5 ft

-14-
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96. Single coated films are used in

A) Chest radiography B) Mammography
C) Extremity radiography D} Xeroradiography
T s fremen Famed e S 7

A) BTt TR B) dHTH

C) wEiHd W D) TR

97. Which of the following is a rare earth phosphor ?

A) Calcium tungstate B) Barium fluorobromide

C) Gadolinium oxysulphide D) Barium strontium suifate

GTAITYH! FHv fes geaft wiewt TR 7

A) Fexftam Imeee 12)* S e Ee

C) Telferam swaerre D) sRm TR Hethe
98. Developing solution used in wet il processing consists of

A) Sulphuric acid B) Sodium thiosulphate

C) Hydroquinone metol D) Chrome alum

e fohew Wi o M Seeerdint BieeH o 7

A) R 1T B) UERH fEeke

C) TRGRRAM H2ieT D) &MUean
99. Device which ¢anverts low voltage to high voltage and vice versa is known as
A) Rectifiér B) Transformer
C) Autotransformer D) Cathode
St IR ) SIS ST SeleesTed) f3hafl SeTe SHiawoT i STell HRI TEvRTe ?
A) YHEER B) A%
C) SNEITAEHIR D) S

1G0. Grid is made up of

A) Lead B) ILead with molybdenum spacer
C) Lead with tungsten spacer D) I.ead with aluminium spacer
g et serelt 3w ?

A) T8 B) Hiclisgim ¥iat U8 oie

C) TTEEA TR T8 8 D) Uegiirm v w8 o

-15-
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1.

10.

L1.

12.

A= S
A) 7.7, Sef-afefe amEn B) fu.& Seft-vEE T
¢) Trer wa-fiarEs D) YR ETd-alles AMD
. A T8 HIE.
A) 53 B) gtz C) AR D) ¥
TR TR O T SRR A A T Sl
A) HATIHTO 170 B) AT HEH &0
C) T IA D) T g 3 Sl
. Trer = wrearan fereg et wree ohioT ¢ |
A) T B) fgd ¢y s D) feregdior
. et v ITeE W A1 YegE st e ¢
A) JAtERA B) 1fiHes C) SANEH D) AfHR
A) ST I TS B) SR YR Hieaedl
C) AR IR HETE D)y 3k Y FIEadi

. et LT S ¥reg R B, T A SR i ?

WMATAHS T

A) § B) @ C) 1 D) 4
. T A\ yiserean fregrefl wrearn v Has.
A) e B) 342 C) TR D) frew
| A SITSRATER TTrE SUET. T A ST SR ST,
A) et B) WAl C) Tt D) wrseAml
T 1 Yserea Hefiat B 4yt e
A) |q + SH B) 99 + S C) G + N D) &S + w5
P R LA e R R R AT LA DIDREC I
A) TS B) T C) TIF D) Wi

R TR st T Suor A wior ¢ wrE v HeeT
A) AT B) e C) FeEgd D) Tidems
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13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

007-33 | 0

@reAlesh! A 3158 IV ¢

A) TR B) dYeruoft C) HHETReh D) GgFdh

o TTOT T AT AR W ShiorEn ?

A) EhHh el B) ol C) wR D) 3Tee® Fatl
Fifesraaor vt sraeien wse ST 7

A) T8 B) W C) T D) uug

Choose the correct use of Gerends verb from given sentences.
A) It is the time of singing of the birds  B) The time is to sing the birds

C) The birds sing all the time D) The birds will sing any time
Choose the correct antonym of the word": Patriot

A) Humble B) Honoured C) Traitor D) Devoted
Choose which is not synonym, word in given words of : Stipulation

A) Condition By Qualificatton C) Conviction D) Requirement
Which is not synonyni, word in given words 7 Adversity.

A) Advantage B) Opponent C) Poverty D) Hardships
Which is corrécivuse of present continuous tense in the following sentences ?

A) Ramesh'wrote an essay B) An essay is written by Ramesh
C) Rafresh is writing an essay D) Ramesh writes an essay

Choose from the group of words given below the phrase for Idiom : To surrender.
A) To give up B} To give in C) Accept it D) To run away

Choose the word which is most opposite in meaning of the word : Disgusting
A) Admirable B) Pleasant C) Indecent D) Unexpected

Choose appropriate Synonyms of : Death
A) Accident B) Dismissal C) Demise D) Disappear

Choose the correct antonym of the word : Magnificent
A} Grand B) Glorious C) Splendid D) Wicked

Find the Noun from the sentence — The Scenery of Kashmir is very charming,

A) Scenery B) Kashmir C) Very D) Charming
4
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26. Find the correct use of adjective.
A) Bring me any water to drink B) Bring me some water to drink
C) 1 need water to drink D) Can anyone bring water to drink

27. Find the correct use of verb.
A) The ship was drowned B) The ship gone to bottom of sea
C) The ship was sunk D) The ship is sunk

28. Choose one which is not phrase/idioms from following.
A) To pass off B) Passed it out C) To pass for D) To pick out

29. One word is wrongly Spelled. Which is,wrong word from the given words ?

A) Fullfill B) Wilful C) Skilful D) Fulfil
30. When we they werevtiaving lunch. (Choose the correct alternative)
A) Will arrive B) ‘Arrive C) Arrived D) Had arrived
31. Bremeier QY TUaT WD aU™E AEvaTEEt Wiciierish! shivrd! fome It sem ?
A) T forea B) ekl foRet ©) sfter o D) =S T
32. SRS 4 2t v Ui e st g IR,
A) feeeiard B) WAL C) wrETYeTS! D) Ya-aratst
33. FERmasiga gl ¢
A) TR B) Ty C) wfeem D) 7Tl
34. TeU 9 AT Henit G JTeliehdliet ST =hiuleal Beshia R == 3ia 218 ?
A) femta B) fafue C) FlAEA D) WA
35. wioQy geer=at wEa Ted wd.
A) @I B) EEH C) FHEITES D) hicerm
36. Alkalt metals are
A) Oxidizing agent B) Oxidant
C) Reductant D) Electronegative elements
37. afifeere v qa ol I Bl
A) B Hethew B) T TlheHl
C) @tieam dethe= D) Jfeyfaftem dethes
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38.

39.

40.

41.

42.

43,

44.

45.

46.

47.

48.

49.

007-33 O OOt
wrelie 3t wifeesa fesrer snft sntoref) Tre 3de ?
¢, 9, &Y, W, R2E, 7
A) R34 B) 3% C) W% D) 3¥3
qRE, ER, Y, ¥

A) 233 B) Y4 C) %3 D) 2E&R

e Fagrean siwfl any wsar R 7

¥e:30: 1 4% 7

A) ¥ B) ¥& ) W D) Yo
Wieletieh! ThIUaT A8 22qT Sk TisTon SHdTd 7

A) wifEsnurs B) TR C) eHHeR D) Afeadiet
TEEATE & ShIGTFET HTET ¥ IV Je 10 32T 31 7

A) FemEn B) &I C) Rasdten D) Glshaiaren
GreATeteh] T FRRTOTea e 5o T8V TV AT AT 7

A) ™ B) FFam C) & D) &M

A) T B) AR C) shatE-o D) TqHS
HATATHE IT Yoraed 3T 7

A). T B) FH C) B D) stifaasm
T SHHAR GH e oS £ 30 3. T el Hald ST@H §E o] ?

A) Ro B) 2¢ C) D) 3R

UehT YTohfoeh fordid VICTORY 81 9198 ORYTCIV 381 fordia sreiel 0 ORDINARY
%l Yog HHT foETe 7

A) NRYAIDRO B) ARYORDIN C) RYANIDRO D) ARYNIDRO

3OX IVe A+ I X WUI =T
A) Vellol B) <okl C) 2¢Lb\e0 D) 2eleel

Rermarean 3w IS WO AIHH i g TR,
A) ¥ JWF B) ¥ AMA.A.  C) LR AAE D) Ro AT,
-6
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50. vty fragd arferst gl s,

{o, %¢o, IR0, , 90, 8lo
A) Yoo B) ¥¢o C) ule D) 4o
51, 3TV T AT QAUAT 3R, A0 BTGNS GO ST, TS F TR § WIS 31T, W
TR I T IO 7
A) forr-ga B) SE-gaUET ) AT D) HH-HET
52. &2 q \vo I SCFAI=AT GH AT AL fobelt ?
A) 33 B) R C) %o D) 32
53, ETefeltsh! SuTeaT TR a-T 31aad FHawd ¢
A) Ichthyophis B) Salamandra C) Anguilla D) Pheretima
54. TGN T SATH LA FRBIIE ?
A) Neurology B) Endoplasmology
C) Karyology D) Ergastroplasmalogy
55. In carbon-carbon Lk in acetylene contains
A) One sigmayiwo P1 bonds B) Two sigmas, three Pi bonds
C) Two sigmas, two Pi bonds D) Three sigmas bonds
56, &1-fertor, Temst
A) frga e aal 3ea B) 36U WA vl €1
Oy ST <o B D) T9ietfEe s @
57. arcid st e, YR R e @ e saw 9 @ did
SH1vTeT FRTAT SR BraT 7
A) T B) T&X C) & D) il
58. Freuif) qreesn Yafi e arferh e 8 7
A) &3 B) ¥%d ) forelt D) el
59. TERyfth TeTe @ S =T T IV A TR B! 7
A) Bferm B) TRIGSH C) TRZEH D) AEIHTRE

60. THE TR 2 CET TR T e, S Steed $u wie S, Fmior g serae
R¢.& HY . T TR STAT I ATIHE 95, .S hE IS FFAd 7

A) VRS B) TEmE C) HgEed D) gogEmed
7.



C - 007-33 R

61.

62.

63.

64.

65.

In a X-ray circuit, autotransformer is connected between
A} Cathode and anode
B) Source of current and primary of main transformer
C) Primary and secondary of main transformer
D) Filament circuit and X-ray tube
T - TROAME, ST e ST sty ?
A) &g iy daie
B) ST WA I &I LAt TR
C) q&A BT Hrwd ifor dered
D) framie whiz snfr w1 ==

Anode in mammography tube is made up of

A) Molybdenum B) Rheniura ) Tungsten D) Copper
O s efier 0T sheren satert aTEdt 7

INKIGIESEE B) ify C) TRLA D) qm§

AERB stands for

A) Atomic Energy Riling Body B) Atomic Energy Regulatory Board

C) Atomic Energy-Rules Body D) Atomic Energy Regulation Body
AERB T2V 4!

A) Teties TSt wefin Srel B) el Tsll tgerett aiid

C) il el we ST D) e el Y S e

All of the following devices control filament current except

A) Rheostat B) Choke coil

() Pulse width modulator D) Rectifier
W Teh] Ush FTTesd] Td IUehiol fhammie shie FriEta seam

A) Taede B) = &igd

C) T fagy Hleseia D) & THRR

Duration required for automated processing is

A) 5 min B) 20 min C) 1l min D) 1 hour
HieME UishiETe] SATawre: dhiead! fed! ?

A) 5 e B) 20 ff¥e C) 1 ffe D) | ™

-8-
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66. PACS stands for
A) Picture Archiving and Communication Systems
B) Picture Archiving and Copying Systems
C) Picture Acquisition and Communication System
D) Picture Accepting and Communication System

PACS w805 &1 ?
A) Toaer A=t afs e faedra
B) fuger srr=fidin afs wridin forediry
C) TR daamsiym ofe Frgierem faedn
D) fierer daredin i wrihem frdin
67. MRI stands for
A) Magnetic Requisition Imaging B) Magnetic Resonance Imaging
() Magnetic Rectification Imaging D) Magnetic Resonant Imaging
MRI =Tl &1 7 |
A) T fEamseH et B) Wides YT gusiin
C) HAdR ey D) Wi @i oSl
68. Fourth generation'€&T scanner is
A) Linear rgtate type B) Linear linear type
C) Rotate\yotate type D) Rotate fixed type
1T Tehef Lo = YRR ShIvraT ?
A) dF R T1ee veER B) T fodn ger
C) AT T TFR D) e fhags wer
69. The discharge of the superconducting magnet in MRI is called
A) Ramping B) Quench C) Shielding D) Gradient
THATRR Wefiel GUehsaeiT HuesdT fetasiel 1 U ¢
A) Tf B) C) sfieein D) Tfete
70. Following are contraindications for MRI except
A) Cardiac pacemaker B) Cochlear implant
C) Intraocular metallic foreign body D) Pregnancy
AT BT T aTosal Wielia o fftrgar anea
A) FHIEHTH THHH B) HIEdRR e

C) 3ARIeR Heht wIH Fie D) TisfgRen

9-
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71.

72.

73.

74.

75.

007-33 LRV

Artifact in MRI caused by movement of patient is called
A) Chemical shift artifact B) Aliasing
C) Zipper D) Ghost artifact
T ETeTTe 23 THATAR aefiet Srdiereet 19 Tevram ?
A) Hiwd fTwe sdithee B) AAFH
C) v D) =R 3Tdftere
Role of AERB are all except
A) Registration of X-ray equipment B) Layout approval
C) Inspection D) Repair of X-ray equipment
AERB =i V{1 10Tl Ush FrTesd1 |el 377 ¢
A) TFE~ IUFWTER Hig B) W& W=l
C) quroft D) TR ITHITE gt
10 day rule of radiation pfotection applies to
A) Radiation worker B) General public
C) Females in reproductive age D) Staff nurse
Uewem w10\ Faeg fFeam shione wny g 7
A) HEusm Hir B) UM ol
C) Yo, demehia wiee D) % ¢
Follgwang are advantaged of TLD badge except
AyChips can be reused B) Provide permanent record
C) Compact D) Wide dose range
GIRATeTeh! Uh STe3aT T T = oy T
A) 9= 37T AT BN T B) FHEHEED & a6l
C) HideFe D) 9158 S i
DSA stands for
A) Digital Sequential Angiography B) Digital Substraction Angiography
C) Direct Substraction Angiogram D) Direct Sequential Angiography
DSA TEUS %1 7
A) Tesfea faeeeiiae ffigmmdr B) fesfiedt Haedawm Siaurd
C) SRRZ Iy aisiammy D) P Red-aiae ofsidmmd

-10-
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76. Single coated films are used in

A) Chest radiography B) Mammography
C) Extremity radiography D) Xeroradiography
et e foherr= sheTmed TR B ?

A) BT T B) HHNITH!

C) weEtad ERwTh D) FERfeanmhy

77. Which of the following is a rare earth phosphor ?

A) Calcium tungstate B) Barium fluorobromide
C) Gadolinium oxysulphide D) Barium strontium sulfate
Greftereht v giffes geat hieh SR
A) sesfam ameee B) s FolsIEE
C) Teiferem AR aewEs D) W e goke
78. Developing solution used.jn’ wet film processing consists of
A) Sulphuric acid B) Sodium thiosulphate
C) Hydroquinong_ metol D) Chrome alum
A e wigRised arvod Jum Yegerdin diegeH How ?
A) FeRHR )T B) gEEY fiaEehe
C) TESIEYAN Hefd D) %W egn
79. Devies which converts low voltage to high voltage and vice versa is known as
AY Rectifier B) Transformer
C) Autotransformer D) Cathode
S SUHUT e} SRiedsTe ST seledsed fohat Jete S9iaT o et shi FurdTd ?
A) TEARRR B) ZIEWHIH

C) HATLHHHT D) Fee

80. Grid is made up of

A) Lead | B) Lead with molybdenum spacer

C) Lead with tungsten spacer D) Lead with aluminium spacer
Tie el Seiell SEd 7

A) @I B) HicilsgH THT Ug i

C) I T U8 oS D) Tegfim TR 9 o

-11-
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81.

82.

83.

84.

85.

86.

007-33 LR

All of the following are MRI sequences except

A) Spin echo B) Turbo spin echo

C) Neo spin echo D) Gradient echo
Tk STEEAT Gl Aeh! Td THITRSTRIST %1 37T

A) T ER B) &l & goh!

C) FRived 3 D) UETE TR

The cryogen used in MRI is

A) Helium B) Neon C) Sodium D) Chlorine
THARSTH HET AT SR FRISH hIord 7

A) Biferm B) =i C) grErm D) FH
Permanent magnets are made up.0f

A) Titanium B) Mereury C) Copper D) Alnico
AR Yol HI T ST 7

A) fdtem &) "R C) I D) sifeaapl

The following arethe coils used in MRI except

A) Volume, ¢oil B) Surface coil C) Phase array coil D) Imaging coil
THARIE T @iefierieh! T qiesd] T hisel o1 9T gial

A) TEGA Hige B) GhEHEA  C) BT HA D) gsfinwia

Annual radiation exposure limit for radiation worker is

A) 1 mSv B) 5 mSv C) 30 mSv D) 100 mSv
T e gidt Tgerat e wemdsr water fodt 7

A) 1 mSv B) 5 mSv C) 30 mSv D) 100 mSv
For general purpose radiography minimum thickness of lead equivalent in protective
apparel should be

A) 1 mm B) 0.5mm C) 2mm D) 5mm

I S ST Tre) GRaTensh Yotet Hefier ey aige foham sirel foreft avamet 7
A) 1 fpfr B) 0.5 fudy ) 2 fisd D) 5 Tt

-12-
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87. Radiographic quality is improved by all except

A) High speed screen-film combination B) Decreased motion blur

C) Optimum phosphor crystal size D) Increased noise
RIS Tl T e gatge GuRe Sl

A) T Tve whA- Then TahataT B) HH} FRIAT HITH 3t

C) AT BIEHL ST ATHR D) Feadl TS

88. Following are the advantages of using flat panel detector systems except

A) Compact B) Reduced image noise

C) Expensive D) Absentvignetting
Teh il @A Fie 9a feda fnding aroam e area

A) HidF B) Wt ST 3 T

C) Eiin D) Usd=cfegmdn

89. Dose reduction technigues in fluoroscopy include all except

A) Reducing expesure time B) Increasing tube current
C) Improving\¢aliimation D) Pulsed fluoroscopy
TR FEIE Sie RSHeM a9TE hiv G avresdl eli=] GuEay arat ?
A) T TR 3 B) Tl HF HE
C) TR wiferiem D) ToHE FgUhidt
90. “The viewing glass in the CT console room should have lead equivalence of
A) 0.5 mm , B) 1 mm C) 2 mm D) 5mm
I F S SIS STEvIrE He T A ST,
A) 0.5 fordt B) 1 fimft ¢y 2 fnft D) 5ot
91. All of the following are methods to improve radiographic quality except
A) Transformer B) Grid
C) Beam limiting devices | D) Filters

T Il ETdiaeht @9 WA gt guneamdiean ved sRa
A) TFEHHEHT | B) e
¢) i fefidin feeemmy, D) feed

-13-
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92. Filter in X-ray tube is made up of
A) Copper B) Aluminium

N O

C) Rhenium D) Gadolinium

T Ts wefie fheet wuTre St Sl ?

A) T B) Gegfifam

¢) Ham D) TeifdiEm

93. Which of the following about Cone beam CT is false ?

A) Reduced radiation dose

() Has a cone shaped beam

B) Usc;d in dental imaging
D) Costly than MDCT

o T T e HR G I 7

A) YEiugH T FHl Fl
C) T Tk HATHRTT S TR

94. Rectifiers are
A) Conductors
C) Superconductors
R e S
A) HeFed
C) RhSaey

95. Solid state \diode rectifier is made up of

A) Sificon

C).Gadolinium

B) St g Wl AT €l
D) THEEE e UgT AR

B) Insulators

D) Semiconductors

B) 3gcied
D) Afheded

B) Cadmium
D) Sodium

T ST TS TFEIhIE ST See 3l 7

A) Tefiwia
C) TS A

96. Anode is made up of
A) Copper
C) Tungsten-Rhenium
THTS SRy STelelt T ?
A) T
C) AT

B) “heHIaH
D) HrERy

B) Aluminium
D) Lead

B) UegiiHia™
D) &8



TR N R | C - 007-33

97. Characteristic radiation is produced when X-ray photon interacts with

A) Outer shell electron B) Inner shell electron

C) Positron D) Neutron
T~ DI HIEIST TR AR Syt Wewem Fofor g ?
A) T FoagH B) 3L el Soida i

C) "idreH D) =AgH

98. Binding energy is highest for which shell electrons in an atom ?

A) K B) L C) M D) N
STEEHT TS STV IV Ford TG WE! Faia a1 7

A) K B) L C) M D) N

99. X-ray tube was discovered\bw

A) Roentgen B) William Coolidge
C) Gregory Hounsfield D) Nicolas Tesla
TR - SR It A ?

A) e B) facfiam geftest
C) AW gi-afhes D) e e

100. X-ray film emulsion ts made up of

A) Cadmium B) Phosphorus
C) Silver halide D) Lead
g~ fhen 3HesH I sHelel 31EaY 7

A) hegHtam B) ®IEHH

C) feeet daare D) o8

-15-
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Answer Sheet No.
(=1 i IeRufERat frgm) | (= TR TR fogET)
a3 dW
TR : o0
IR wE N\ TS T HEl
ERECINEIR G Rl
1. = yeAgfedend 100 axgiTss Yo a2 e,
2. e g goanget oiwm, S Soneit St @ weAgfedent e fee s ST,
3. W Al i gEid s w0 SHeaRRA STuedT dH SEET.
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10.

11.
12.

13.

T T o7t Gl ot Iatafiehar anesas miRd 3., TErgftast seeia wuis, SIEHE
e foeEn @ oHaE T wUdl, audenn S9Ed ATt IgaRe safen Tl o @ aum
A FE I, IHEER Svafashat snfit wergftahat wdt #E.

. T Fis A e aeRd.
. Sl ST 4 SgvatH) I oot sTed wdeh vk watd ard It v .
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fHET 0T T,

. T TEeh ITUETST 2 T foet Sfie. ehtrewsh 1u1 Svata da AT, Tehmal 1 Sdem gon e

T WIERETE Ferel JTHe o I 0 faet T e,

9.4, 617 100 v favmfia v s, wo aiieRat ettt wod) 9 SuSiqy S o s
e T HOIRATS Ty e e} et s e, Stafishat e i e T

Ty feehet qi TR ad) el srream an we ol o gucaret T S e AT
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L. et AR U S1efqul w1eq TR Bl Tl e 31 o 7

AMHATRFY

A) Y B) @ C) D) =
2. o A rsar=AT fereeyelT srearan vty fast,

A) Yus B) &< C) e D) firew
3, A TTSRETE 17 TTAT. AT AT ST TR S ],

A) Faernft B) Ivamat C) feenfass D) wreeart
4. WeedshY STYE I8 HI0AT 7

A) i B) dieramft C) et D) GgFh
5. ot TTTOY TTR USRI I SRR SR 7

A) GFRHe el B) mriufl C) 9@ D) 3T Hall
6. iUl e SRAAT Yo <hIvTT ?

A) 9 R) Wt SIRICE D) a8
7. wwwA aryreare e SN A wrE FEeE

A) Eq + 5 B) T + 5 C) T + W D) T +
8. TSty aHTTT wearet v fHarer,

A) TH1 B) Tl C) 9% D) W
9. Frrvas MiEE eifEet T ST e v ¢ e Wi e

A) FHATTS B) STl C) hyrEyd D) Tfaws
10. Teregy = yrseren foregforl wrse v 7

A) TEET B) fgedt C) R D) Tyl
11. St Hiod gee Tia a1 e Ui = 7

A) sAfvare B) afira C) ihmH D) AR
12. @l aEamed Had gam ae Fast. |

A) 3TN U Hieaal . B) R YR HISTAT

C) AR Yo Higae D) ¥ TR Frgaal
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13. i St e, |
A) I, M. Seit-arfgfea simea B) fa.f.<efi-werm Tee
C) oA -t we D) ViR BRIG-dUes 3RIS
14. AYE ST T,
A) S B) 3ffi= C) HIger D) 9%
15. WATA O U1 TSR HA T A 1ty e,
A) HATIAT FRETO B) T HET TR0
C) w1 I D) T A Y srerol
16. Choose the word which is most opposite-in meaning of the word : Disgusting
A) Admirable B) Pleasant C) Indecent D) Unexpected
17. Choose appropriate Synonyms of-, Death
A) Accident B) Didmjssal C) Demise D) Disappear
18. Choose the correct antonyta of the word : Magnificent
A) Grand BY Glorious C) Splendid D) Wicked
19. Choose one whichvs-not phrase/idioms from following.
A) To pass off B) Passed it out C) To pass for D) To pick out
20. One word is.wrongly Spelled. Which is wrong word from the given words ?
A) Fulifril B) Wilful C) Skilful D) Fulfil
21, When we they were having lunch. (Choose the correct alternative)
A) Will arrive B) Arrive C) Arrived D) Had arrived
22. Find the Noun from the sentence — The Scenery of Kashmir is very charming.
A) Scenery B) Kashmir C) Very D) Charming
23. Find the correct use of adjective.
A) Bring me any water to drink B) Bring me some water to drink
C) I need water to drink D) Can anyone bring water to drink

24. Find the correct use of verb.
A) The ship was drowned B) The ship gone to bottom of sea
C) The ship was sunk D) The ship is sunk
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25

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

Which is not synonym word in given words ? Adversity.

A) Advantage B) Opponent C) Poverty D) Hardships
Which is correct use of present continuous tense in the following sentences ?
A) Ramesh wrote an essay B) An essay is written by Ramesh
C) Ramesh is writing an essay D) Ramesh writes an essay

Choose from the group of words given below the phrase for Idiom : To surrender.
A) To give up B) To give in C) Accept it D) To run away

Choose the correct use of Gerends verb from given sentences.
A) It is the time of singing of the birds. B) The time is to sing the birds

C) The birds sing all the time D) The birds will sing any time
Choose the correct antonym of flie'word : Patriot

A) Humble B) Hbonpured C) Traitor D) Devoted
Choose which is not synénym word in given words of : Stipulation

A) Condition .~ 1) Qualification C) Conviction D) Requirement
&7~ fepTor TEUS

A) T gedhim @l amed B) Ul YW@ vl BId

C) o9 S 01 B D) it o1 g

Wmﬁaﬁéﬁ%,m%mﬁwﬁﬁﬁgﬁwﬁuawwéﬂﬁaﬁw
HIUTIT TeRUITHT AR BT 7

A T B) w& C) & D) st
ﬁxﬁﬁﬁaﬁ@ﬂrﬁsﬁﬁﬁaﬁ@?ﬁaﬁaﬁm%?

A) T B) %A C) freht D) wtel
ﬂwgﬂaﬁaﬁm@:amwwmmﬁwﬁﬁ?

A) Bferm B) TESNH C) THESH D) TREERE

ww%mmwmm@mﬁsmﬁwﬁﬁnhmm
R¢.& I, Tt v v AT % .8 S S 3Tad

A) TIETSEe B) TehaHed C) Hened D) GFEHE
A% BT ARErE YUl TR, O mgamaﬂ%.gﬁmau@rw%maﬂ%ﬁ,at
TR AN A IO 7 A

A) - B) ER-gawEl  C) TSR D) WIS
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37.

38.

39.

40.

41.

42.

43.

44.

45.

46.

47.

007-44 OO0 Y 00
€8 \vo AT SLR=41 §H T wrmdl B 7

A) 33 B) 3R C) 3o D) 3%
GIefEUshl sivren strhiaiaHT steug Tgand ?

A) Ichthyophis B) Salamandra  C) Anguilla D) Pheretima
S =1 SV ST T T80T 7

A) Neurology B) Endoplasmology

C) Karyology D) Ergastroplasmalogy

In carbon-carbon link in acetylene contains

A) One sigma, two Pi bonds B) Two sigmas, three Pi bonds

C) Two sigmas, two Pi bonds D) Three sigmas bonds
TS IR FH Tl SIS ¢ 30 pTie! ot AT dald wer Sl Hvwd ?

A) Re B) g¢& C) D) 3R
T Hishfaes fofia VICTORY &1 7158 ORYTCIV 3147 R s7iet a0 ORDINARY

21 158 4T Tofere 7
A) NRYAIDRO B) ARYORDIN C) RYANIDRO D) ARYNIDRO

WX I LRET X I =T

A) 2vllued B) 2¢ole¢ C) %¢cUve D) 2cuvoe
Teaamimar 3w srEed YT T i g TR

A) XL HAUF B) ¥ SHY, () Lo FWME D) Ro AL,
ar i Fagd mfoest gof =0

(o, 8Lo, IR0, , BRe, 9lo

A) Yoo B) ¥¢o Q) 4o D) 4¥o
Alkali metals are

A) Oxidizing agent B) Oxidant

C) Reductant D) Electronegative elements
SfifeTe v TR FoRE IR Bl

A) g gohaan B) W Gethedl

C) Tifeam gehes D) FHegfirfism getbea
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48. TS 31 HTforehal e St apvore w3 7
¢, 9, &Y, R34, R%§, 7

A) WY B) 33¥ C) W& D) 3¥3
49. Wl 31 mTiereha fgma g e,

8%, &R, Y, %3

A) 332 B) 33y C) w3 D) 28R
50. e TereT=an swit < weay syorh ?

¥ :30::¢4%: 7

A) ¥¢ B) ¥§ C) R D) 4o

51. @?ﬁaﬁaﬁmmwﬁmaﬁmw?
A) FEITE B) TRUERIT <) gmiter D) arfeedtex

52. TEATET I SHIRET T R HIOET TohE, SSR0 3 7

A) Tasrt=n B) 3@ C) fgsdtar D) OGRaT gi
53. WeArerieht et Fouiice) qerrss Fev o Jome T 7

A) Eem B). THam C) & D) i
54. YA ©rEE wiar T B,

A) AT B) AR C) Stequd-9 D) e
55. AWMLY IO Az TEIT 7

A) FTelT B) ¥&0H C) BRIGIH D) 3ifesi
56. ma‘iwmmmmmmﬁrﬁaﬂwﬁw?

A) ¥ o) B) 3w frml ) dffer ooy D) U= fero)
57. SErs= & T Uil S srenah gt s,

A) TREatersh B) Tr2iars C) TrTEATS D) Ya=2r s
58. FERWT S B ¢

A) g B) feramyy C) wfrery D) R
59. wammmaﬁmmﬁwmmaﬁﬁam?

A) femda B) forfie C) HEid D) wWidN

60. gfTrer Geo=ar sty Ted .
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61. All of the following are methods to improve radiographic quality except

A) Transformer B) Grid
C) Beam limiting devices D) Filters
Teh el Wieliayeh] Td (@ERITH a9 URUIRIE=T TEd! STied
A) BT B) 1%
C) &g o fesamey D) freed
62. Filter in X-ray tube is made up of
A) Copper B) Aluminium C) Rhenium D) Gadolinium
TF -1 2 mefet foheet s seter el ¢
A) q9 B) Uegmdizm  ¢) i=m D) Terfefam
63. Which of the following abaut.-Cone beam CT is false ?
A) Reduced radiationddgse B) Used in dental imaging
) Has a cone shaped’beam D) Costly than MDCT
F1 o1 F T el AR e R
A) ST i B) T ST wed AR Bl
C) A STk TR SH 318 D) THSRAE eI HEr o1
64. Reeatifiers are
A) Conductors B) Insulators
C) Superconductors D) Semiconductors
Rezisaend TR

INE: =G B) Tgered
C) GaehedeH D) Gfieheded

65. Solid state diode rectifier is made up of

A) Silicon B) Cadmijum
C) Gadolinium D) Sodium

T LT SRS YT ST el 3Tl ?

A) Taefisi= B) whertay
C) et am D) |rErM



O O O C - 007-44
66. For general purpose radiography minimum thickness of lead equivalent in protective
apparel should be
A) 1 mm B) 0.5 mm C) 2mm D) 5Smm
T T mewmmwmma@mm?
j INBREL B) 0.5 forfl ¢ 2 fft D) 5 ol
v 67. Radiographic quality is improved by all except

A) High speed screen-film combination  B) Decreased motion blur

C) Optimum phosphor crystal size D) Increased noise

Waﬂf@maﬁ@ T Sy
A)mm@mmq—eﬁa‘\sﬁw B) FH! ST A ST
) AT BEF HRES DN D) drEeiel IES

gef Of"using flat panel detector systems except

B) Reduced image noise

D) Absentvignetting

6%. Following are the advanta
A) Compact

C) Expensive
@maﬁﬁ?uﬁram@rﬂﬁmmﬁw 3Ted
A) SHITFE B) < TCTET gt ST

c) wdf% D) Tedrefeamdm

echniques in fluoroscopy include all except
B) Increasing tube current

D) Pulsed fluoroscopy

69. Dose reduction t
A) Reducing exposure time

C) Improving collimation

@ﬁmﬁnwmmﬁm@m@mmmﬁn
A) Tresgdin TEIISR IS B) dTedl g8 e
C) g HifeHTH D) oS Fglehid
70. The viewing glass in the CT console room should have jead equivalence of
A) 0.5 mm B) 1 mm C) 2mm D) 5 mm
A e ST e i e TS .
A) 05 Tt B) 1 T ¢y 2 Tl D) 5 T
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71. Anode is made up of
A) Copper
C) Tungsten-Rhenium
FAte HRTE STl Tl 7
A) AT
C) T~ LI

AR LA

B) Aluminium
D) Lead

B) Teyfian
D) ¥E

72. Characteristic radiation is produced when X-ray photon interacts with

A) Outer shell electron
C) Positron

B) Inner shell electron
D) Neutron

e X WP ST e G e A e Fator e ?

A) FTEl e g
C) THgH

RB) T[N e Soidgi
D) M

73. Binding energy is highest for which shell electrons in an atom ?

A) K B) L

0 M D) N

H@ﬁnwﬁmjﬁwmém@ﬁmaﬁﬁihmﬁaﬁawqmmﬁ?

A) K B) L

74. X-ray, tube was discovered by

A) Roentgen

C) Gregory Hounsfield

UER - e T vt T

A) Ug=eSH
¢) Tl B S

75. X-ray film emulsion is made up of

A) Cadmium
C) Silver halide

‘@q&ﬁﬁwywwvmmmaﬁﬁﬂamﬁ?

A) heHH
C) et Earge

0) M D) N

B) William Coolidge
D) Nicolas Tesla

N BESIPLE TIES]
D) e w

B) Phosphorus
D) Lead

B) HIEHH

D) @€
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76. All of the following are MRI sequences except

A) Spin echo B) Turbo spin echo
C) Neo spin echo D) Gradient echo
T el W Hel THSAEEET AR
A) TR B) &1 edH 3
C) P ed 3R D) iz T
77. The cryogen used in MRI is
A) Helium B) Neon
C) Sodium D) Chlorine
TR HEA TR STTOTR ST Shyurd +f
A) gierEm B) faia
C) AERH D) AR
78. Permanent magnets are ‘made up of
A) Titanium B) Mercury C) Copper D) Alnico
T A BT Sl ST ¢
A) f&tmm B) AR C) @ D) feret
79. The follawing are the coils used in MRI except
A)Y Volume coil B) Surface coil
C) Phase array coil D) Imaging coil
@mmnﬁaﬁﬂaﬁ@@maéaﬁﬁamw@ﬁ
A) T s B) TCHE HiEA
C) AT HiEA INEELEINEIES
80. Annual radiation exposure limit for radiation worker is
A) 1 mSv B) 5mSv
C) 30 mSv D) 100 mSv
e wTE g Y TR st R ?
A) 1 mSv . B) 5mSv
C) 30 mSv D) 100 mSv
-11-
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82.

83.

84.

85.

007-44 | ‘ R 0 AT

PACS stands for

A) Picture Archiving and Communication Systems
B) Picture Archiving and Copying Systems

C) Picture Acquisition and Communication System
D) Picture Accepting and Communication System
PACS T8UN % ?

A) Torr stffefin ofe serfem fRedm

B) fuerr arfidin ofs = din iy

C) Toeer Saemasine of segiiem faedm

D) fierer e afe wgfisrem ficdm

MRI stands for

A) Magnetic Requisition Imaging B) Magnetic Resonance Imaging
C) Magnetic Rectification finaging D) Magnetic Resonant Imaging
MRI &S & ?

A) T Reamsmyansiin B) Wi 3F-H s

C) WS W fhesi esfin D) O WIFe shsii

Fourth generatioi, CT scanner is

A) Linear (gtate type B) Linear linear type

C) Rotaterotate type D) Rotate fixed type
H T Y JHR BT ?

AT T2 WhR B) T ferfra we !
©) T WT THR D) e e Wi

The discharge of the superconducting magnet in MRI is called

A) Ramping B) Quench C) Shielding D) Gradient
THARAR Hefiet Gucheadin Haeea fovameien &= o ?

A) T B) & C) Yiedin D) Ufgue
Following are contraindications for MRI except

A) Cardiac pacemaker B) Cochlear implant

C) Intraocular metallic foreign body D) Pregnancy
THATLAT WIS T T2l Wiefiel 9 Fivgar e

A) IS TEHH B) FIEERR TR

C) TSR Adelteh wRA i) D) Trsfermon

-12-
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86.

87.

88.

89.

90.

C - 007-44

Artifact in MRI caused by movement of patient is called

A) Chemical shift artifact B) Aliasing

C) Zipper D) Ghost artifact
T BITHTC 13 UHSTRSTT Wefiet ST iberet 1 Tevrag 7

A) s five ardfee B) i

C) Ffogr D) ¥Rz i
Role of AERB are all except

A) Registration of X-ray equipment B) Layout approval

C) Inspection D) Repair of X-ray equipment
AERB I ${{tre1 h1vTeft Ueh ITezan 6 ora

A) -1 ITRE e B) W37 Ai=an

C) FurEf D) TH IO gedt

10 day rule of radiation protection applies to

A) Radiation worker B) General public

C) Females in reprodudtive age D) Staff nurse
SweH G 10 st Fre sromrerm omy drare 7

A) Usuzm s B) UM @1F

C) IS FETTEie wigen D) s Wi
Following-are advantaged of TLD badge except

A) Chips can be reused B) Provide permanent record

C) Compact D) Wide dose range
QeI U resd we Aeeret = oy e

A) =9 3T I B vieha) B) FHEmEEdt i

C) =iYae D) 9KE TN W .

DSA stands for

A) Digital Sequential Angiography B) Digital Substraction Angiography

C) Direct Substraction Angiogram D) Direct Sequential Angiography
DSA =ors &1 7

A) TSt Rradmfiaer sisfmd B) fesfieat vardawm sishamma)
C) ST Weriae afsfiim D) ST REamie s

-13-
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92.

03.

94.

95.

pu p— g — i
C - 007-44 | 00 O
91. Single coated films are used in
A) Chest radiography B) Mammography
C) Extremity radiography D) Xeroradiography
firet shieg o= semed I Bl ?
A) BN W B) HATHI

C) Tam e Eramrh D) wofeamTdh

Which of the following is a rare earth phosphor ?
A) Calcium tungstate B) Barium fluorobromide
() Gadolinium oxysulphide D) Barium strontium sulfate
WA Tedsh! svrd gries gedt HEHT 3T
A) FexiiEg TR B) ¥ wUEMEE
C) e M AfRflachE D) SOUH T Gehe
Developing solution usedyir wet film processing consists of
A) Sulphuric acid B) Sodium thiosulphate
C) Hydroguinore~metol D) Chrome alum
e e TR T AT Segerdi Hieg e HR 7
A) GeRHE A B) WM dFEehe
C) TEEIEA feid D) %™ Geg
Device which converts low voltage to high voltage and vice versa is known as
A) Rectifier B) Transformer
C) Autotransformer D) Cathode
S IR Ff) S ESS ST SeleoSTe fohT ITTe WGl hid TTAT shrd FEvral 7
A) TFER B) ITHWIHT

C) HATETEBH D) HAE

Grid is made up of
A) Lead ‘ B) Lead with molybdenum spacer
() Lead with tungsten spacer D) Lead with aluminium spacer
s FHT= STl 3T 7 |
A) T8 B) Hic(lseiaH TR 6 <8
C) T T TE 8 D) Tegfieir R ug 3

-14-
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96. In a X-ray circuit, autotransformer is connected between
A) Cathode and anode
B) Source of current and primary of main transformer
C) Primary and secondary of main transformer
D) Filament circuit and X-ray tube
T -{ Qg St awidt Fumed shear st ?
A) HUTE 3fvT U
B) 1 WA M J&T BT St
C) HE&q ZFHBHTET IR 3nfit deheht
D) fherrie gehie snfirurg -1 g

97. Anode in mammography tube is made.up“of

A) Molybdenum B) Rheniuxi C) Tungsten D) Copper
WA Zpe et TRTE shrn s St 7
A) ATefisdiH B) 3 C) e D) sl
98. AERB stands for
A) Atomic Energy Ruling Body B) Atomic Energy Regulatory Board
C) Atomic Energy=Rules Body D) Atomic Energy Regulation Body
AERB Ul 8Ly
A) Vet uast wefin &t B) Ui TSI teie
C) i oislf &eg wied D) Ui TS Ty sfig
99. All ofithe following devices control filament current except
A) Rheostat B) Choke coil
C) Pulse width modulator D) Rectifier
A) T B) €I hige
C) wed fagy Aiesier D) &IwRR
100. Duration required for automated processing is
A) 5 min B) 20 min C) 1 min D) 1 hour
IS uithaTd} sTevas Femat fret 7
A) stafae B) 20 fafe C) 1fafe D) 1 dm@
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